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SR (o) 335 36.1 | 322 33.2 32.0 33.1 36.0 | 31.8 34.2 36.0
KR (0 28.6 30.0 | 273 28.5 | 27.0 | 290 | 30.7 | 21.8 29.3 29. 8
A B EEEEH | RREER AERER AKEH | RKEE | AREEH KREERH MKEER RKEEH | AREAR
B - BEWE | BBrKE | sME | BIrKE | BrkR | BrAR | BFAR | BIFAR  BFAS | HEAR
B (B) > 50.0 47.5 | >50.0 | >50.0 | 320 36.0 > 50.0 43.0 40.0 > 50.0
' pH 6.5~85 7.3 7.4 7.0 7.3 7.0 7.4 7.3 7.1 7.7 7.2
BOD (mg/LY| 5 HUTF 3.1 1.8 | LS 1.3 e 1.5 1.4 | 15 1.5 3.5
C O D (Mn) (mg/L) - 4.5 4.3 | 3.3 3.7 3.4 | 50 82 | 39 | 38 | 6.6
SS.  (mg/Ly| 50 LR 18 | 23 [ 10 13 33 2 P11 i 14 6
DO /W] 5 HE[ 6.3 68 653 | 79 | 58 | 83 [N 6.9 8.7 7.3
LER - (mg/L) - | ree | 196 | 141 1.24 ~ 1.56 .76 | 11.0 1.88 | 1.74 | 6.64 |
(20> (mg/L)| ~0.171 0.171 | 0.103 | 0.101 |  0.105 0.150  14.6 0.164 0.124 0.524
HARITA g/ 0.003 UF| - <0.0003 | — | <0.0003 - <0.0003 |  — < 0.0003 - =
ST - (mg/L) [snm el — < 0.10 ‘T - | <o.10 - < 0.10 = | <oit0 | — =
§n (mg/L)| 0.01 BT - < 0.001 — | <o.001 = 0. 001 — < 0.001 | = | =
A7 v b (mg/L)| 0.05 LAT| — <0.005 | = | <0005 | - < 0.005 — <0005 | — | =
UF mg/L)| 0.01 UF|  — 0.002 | — 0.001 | — ~0.002 | — 0. 002 - -
HokeR (mg/L) | 0.0005BAFf  — <0.0005 | = — < 0.0005 = | <0.0005 - < 0.0005 | — —
PCB (mg/L) [snnvzef  — <0.0005 | — | <0.0005 - < 0. 0005 - <0.0005 | — -
YyomuxFy  @g/L)| 0.02 KT — | <0.002 — | <o.002 - [ <0002 | = <o.002 |  — | —
RZES (mg/L)| 0.002 LAF — | <o.0002 = — < 0.0002 — | <oo0002 | — < 0.0002 | - | =
,2-Y/mRpTF (mg/L)| 0.004 T  — < 0. 0004 = <0.0004 | = | < 0.0004 = | < 0.0004 | - =
L1-o/7ooxF Ly (mg/L)| 0.1 T - < 0.002 <0.002 | — < 0.002 - | <0002 | - -
vA-L2-YyauxF Ly meg/l)| 0.04 LT — < 0. 004 - < 0. 004 — < 0. 004 = < 0. 004 - -
LL,1-tUzmazgy @l 1 UTF - <0.1 — <0.1 || = <0.1 — <0.1 - -
1,1,2-F)ZooxTd (mg/L) | 0.006 LAF — | <0.0006 | — | <0.0006 - < 0.0006 — | <0.0006 - | =
_]\_}71:1\:119'-1/./ (mg/L)| 0.01 LAF = <0.001 | — < 0.001 — | <o0.001 = < 0. 001 — -
FrFsmaEFLL (mg/L)| 0.01 LT - <0.001 | — < 0.001 - [ <oo0r |  — [ <000l | - -
,3-Ysunraxy  @g/L)| 0.002 AT — | <0.0002 - < 0.0002 - < 0.0002 — [ <o.0002| = -
F95 A (mg/L)| 0.006 LT — | <.0,0006 — <0.0006  — <_0. 0006 — [ <o.0006] — —
YRy (mg/L)| 0.003 LA — | <0.0003 = <0.0003 - < 0.0003 - | <0.0003| - - ]
| FA RS mg/L)| 0.02 LT — | <o.002 - < 0.002 == < 0.002 — | <o002 | = —
NrEr mg/L)| 001 BT = | <0.001 — < 0.001 — <0.001 - [ <o.001 | - -
22 . (mg/L)| 0.01 HUT - | < 0.001 - < 0.001 - < 0.001 — | <0.001 - —
WEMERROEMBERER Mg/l |10  OFf — | 1.5 - | 09 | - L2 | —__}__i_'_ - =
T uE (mg/L)| 0.8 T — | o012 | = | o011 | — | 011 = | o010 | - —
FSE 3  me| 1 HTF| = <o0.1 - | <o - <o.1 - | <oi | = -
14-VAFFL mg/L)| 0.05 UF| — < 0.005 — < 0.005 - < 0.005 - | <oo005 | - | =
| A A (mg/L) = = = = = = = ___1__=__F o Il = =
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SR g e——g—— WIKR BB Y&Eﬁé?ﬁ’r RIKER | &Ké?ﬁ_ﬁé}—%éfﬁlrﬁl—ﬁéﬁ_&l—ﬁéﬁ RRECE RKEER RRER
B& BRAR | FER B | BHER TR i DR FHE | BTRR R
FEHE & |l 365 | >500 | >50.0 | >50.0 |>50.0 |>50.0 | 455 >50.0 | 40.0 | >50.0
pH | es~s85]| 7.4 71 | 81 | 74 | 1.5 9.6 | 1.7 7.7 7.1 8.1
BOD mg/L)| 5 UF 1.6 1.0 1.7 1.6 | L3 1.6 1.5 1.9 1.7 2.0
COD (Mn) mg/L)| - | 47 | 3.8 3.9 3.7 | 40 4.1 3.8 4.3 4.8 6.4
SS mg/L)[ 50 LT[ 26 16 6 7 14 <1 17 - 9 — 2 |
B - mg/L)| 5 HEf 9.4 8.0 107 55 80 | 221 8.3 | 19.8 [ 23 | 3.6
LER (mg/L) = 1.73 L4z | 158 | 171 1.73 0.45 1. 84 1.24 2.45  0.45
EYF mg/L)| - 0. 157 0.126 | 0.129 | 0.164  0.146 | 0.071 0.117 0.126  0.162  0.042 |
HFIvA me/L)| 0008 UF| - = = !—— - . = — - = =
~r (mg/L) [mtnE e & - - = I = = = - = - - ]
& o (mg/L)| 0.01 T - = e =1 — = = - = —
ANres (mg/L) | 0.05 LATF| = _ == = = == == __|_ — = ==
[0 3 (mg/L)| 0.01 LLUF = = = LS| | = == = = =
KGR ~ mgw)]| 0.008HTFf — _i_ = = = = = = - — -
PCB (mg/L) |BibEhien 2 & = = = — = ! = = — - —
SronAzy wgl)| 002 BF| - | - - - == e — - =
Ui bR SR (mg/L)| 0.002 LATF | = = = | = = = - | = | =
,2-Y/ oy (mg/L) [ 0.004 BAF — [ = - - ' - = = = | = =
L1-Y/poxzFlLr  gl)| 0.1 BT = = == == | = = = = = =
'/z 1,2-¥7uuxF Ly (mg/L)| 0.04 UTF = _| = 1 = — = = — — - -
Y ELEEY 2 (mg/L)| 1 LT - - - - ‘ - - = = = =
1 2- NPAE=E (mg/L) | 0.006 EAT = = = — — | = L 0= = =5 =
E oDoTFL L (mg/L) | 0.01 HUF - - - | =1 =1 = - — = =
FhZ7vuFL v (mg/L) | 0.01 BATF = B - = = W _= = — - — —
L3-YrZmnra~y  (mg/L)| 0.002 LT[ — | =— — - ] — — — = = =
FUTh (mg/L)| 0.006 UTF|  — =_ I = = i = = - — - —
DA B (mg/L) | 0.003 LATF = = = || o= = ) = = = —= -
?7]‘/\/7’.7}1/7 (mg/L)| .02 IATF - - - - o - - = = -
B (mg/L)| 0.01 LLF = | = = — = = — - - -
L (mg/L)| 0.01 LAF = =3 == = = 7= = = = =
WREERRCEMBEER /L) | 10 UF|  — = | = E = = = - = | =
TyR (mg/L)| 0.8 KT = — = = — = = | = — a—|——
SES - mg/L| 1 HUT = = = = = = = ol = = —
L4-UFFH  (mg/L)| 0.05 LT[  — = | e = = _ | — = = = =
E2Z2E (mg/L) = = = __&= = = = = = = =
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srine | OB ok | TRRE | cpm TR mams  mame | mokes | akes  mhaes | TR
EEEEE RO5. 08.31 | R05.08.31 | RO05.08.31 RO5.08.31 | R05.08.31  RO5.08.31 | R05.08.31 | RO5.08.31 RO5.08.31 | RO5. 08. 31
pokEEE ~09:00 12:05 12:55 11:05 09:10 09:30 | 09:45 | 10:00 10:20 | 10:35
-, T | & i [ i B B i

%A B i [ [ B | i i

AN - @ | @D ol I N Wl | b
) - | lB®% | JEE JE gy Ewm | EE IE e Ew | NER
KR (C) 30.7 | 35.0 35.6 34.4 32.2 322 | 324 ‘ 32.5 33.0 | 33.3
iR - {o) 3.7 | 29.3 | 30.0 28. 6 21.2 | 217 | 21.8 | 28.3 | 27.7 | 285
xS | RRER | REAGH| REAEH | KHER  KEER KEAR | BEEH | KAGE | RAGE | RA6R
B& B HRR FHRR PmE FEE | BTAKR | BEE | PBER | PHER BER SR
BIRE - (B) >50.0 | 4.4 | > 50.0 > 50.0 > 50.0 >50.0 | »>50.0 | >50.0 | >50.0 > 50.0
pH 6.5 ~85| 8.8 7.2 | 1.9 7.2 ) 76 | 17 | 711 | 1.6 7.6
BOD (mg/L)| 5 KT 2.0 .3 | <05 | 15 1.1 1.4 L1 25 1.2 1.0
C OD (Mn) (mg/L) = 5. 1 44 | 28 | 3.9 3.6 3.6 2.8 4.3 3.1 2.5
'SS . (/L) 50 HUT 3 12 8 L9 15 12 10 8 7T | 2 i
DO . mg/w)| 5 Wk 8.9 | 7.9 8.4 7.6 7.5 77 | 1.1 | 82 7.8 8.6
2ER (mg/L) = 0.3 | 0.78 1.54 1.12 1.59 1.62 | 167 | 1.4 1.64 1.49
2V (mg/L) = 0.040 | 0.121 | 0.102 | 0.125 0.109 0.126 | 0.110 |  0.117 0. 100 0. 10
HFEIY L (mg/1)| 0.003 LUTF|  — | <6.0003 | < 0.0003 | < 0.0003 = = | = ' = = | =
YTV (mg/L) |ftsnmvze)  — 1 <0.10 | <0.10 <0.10 | — = [ = - = =
A (mg/L)| 0.01 LT - <0.001 | <0.001 | <0.001 | - [ = 1 = — - -
AffiZ @ b (mg/L)| 0.05 LT i <0.005 | <0.005 | <0.005 - | = - - - -
Ok (mg/L) | 0.01 BT = 0.002 ‘ 0.002 |  0.002 - | = = - - -
AR (mg/L)| 0.0008L1F| — — < 0.0005 | < 0.0005 | < 0.0005 N - - — = =
PCB (mg/L) [Btixnmn & - < 0.0005 | < 0.0005 | < 0.0005 — ‘ - — - — -
TrauAgy ~ (mg/L| 0.0z U — <0.002 | <0.002 | <0002 @ — | - — — - —
TR{LRF (mg/L) | 0.002 BAF = < 0.0002 < 0.0002 | < 0.0002 - | = - - — -
1,2-Y/ppxFy (mg/L)| 0.004 UF|  — < 0.0004 < 0.0004 < 0.0004 — — - - — —
LI-Y/ounxzFLy mg/L)| 0.1 KT - <0.002 | <0.002 @ <0.002 = — - = = — -
VAL 2-V/mexFLy e/l 0.04 UF = <0.004  <0.004  <0.004 — = - - = —
LL1-hJsmpzH mg/L)| 1 HUTf - < 0.1 <0.1 <0.1 - — - - - -
L1,2-hUzmoxiy (mg/L) | 0.006 LLF — < 0.0006 < 0.0006 < 0.0006 — = - = — -
WPELES A2 (mg/L)| 001 WUF| — | <000l | <0.00l | <0.001 - - - - | = =
FhrS7ouzFLy (mg/L)| 0.01 KT — <0.00l | <0.001 = <0.001 = — - — - - -
,3-Ysanrol (mg/L)| 0.002 BATF — < 0.0002 | < 0.0002 | < 0.0002 — — - | =1 = -
FUT LA (mg/L) | 0.006 LATF = < 0.0006 | < 0.0006 | < 0.0006 - - | - I - | - -
2% (mg/L)| 0.003 LA ~ < 0.0003 | < 0.0003 | <0.0003 | — e e —
FARLANT mg/L)| 002 UF| — | <0.002 | <0002 | <0002 | — | — | = — = =
AV % (mg/L)| 0.01 KT — | <0001 | <000l | <0001 [ — | - = - = -
Ly - (mg/L)| 0.01 LT = < 0.001 | <0.001 < 0.001 | = = _ = — = =
FHES PSSR R OV REMEE R (ng/L) | 10 BTl — 0.4 1.5 0.8 - - = = - —
7y (mg/L)| 0.8 WU il 0.14 | 009 | 0.13 = = - - - -
EIF mg/L)| 1 HUF|| - <0.1 | <o0.1 <0.1 — - - - - -
L4-TAFH (mg/L)| 0.05 LT - <0.005 < 0.005 < 0.005 - — - - - —
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Rk () 34.4 34.7 35. 4 35.2 34.6 34.2 35.6 35.6 35.3 36.0
kil () 295 29.8 | 32.5 34.1 31.3 30.5 20.0 | 30.0 ~33.0 33.3
£ HREH | RO BREAS | BREER ARESH KKEGHE BRAREH REREH | KKER | PRe
B S B TR | B TFARRE | BBTAR | BTFAE  HFAR | FFAR EaR | BTKE HHE CER R
BIREE () - 3.0 | 350 | 22.0 227 | 343 | >50.0 | 452 | >50.0 > 50.0 11. 1
pH |65~85] 73 = 6.9 89 | 7.4 ! 711 7.5 .6 | 1.6 7.9 | RON
‘BOD  mg/w)| 5 MF 1.5 | 4.0 L7 | 1.9 3.3 1.6 _ 1,5 | LB 1.9 11.2
COD (Mn) mg/L)|  — | 41 | 5.6 6.2 | 10.4 6.4 3.5 3.8 85 | 1.4 29.7
SS  mg/w|s0  LF[ 12 LT 13 L4 34 9 17 0 T 1 ] 42
DO mg/L)| 5 HE 56 | 3.8 7.0 _|_ 9.0 5.4 8.3 8.0 7.9 10. 1 217
RER (mg/L) - L1 | L45 | 122 | 672 2.81 L72 1.75 .66 | 0.56 | 2.60
£V  (mg/L) = 0.122 | 0,181 |  0.335 0.225 |  0.244 0.120 0.106 | 0.115 |  0.065 |  0.334
A FIvA mL)| o003 BiF| = 1 — | = | = | = = R | - | < 0.0003
LT  (g/U) [RmEhaccefl _j___t_ - | =1 =1 = - . - — | <o0.10 |
. g/ 001 T = _ = .= 1 = | = = = = — | <o0.001
| Sffiz 2 mg/L)| 005 LT - 1 - 1 -~ = R =t — | <0.005
S mg/L)| 001 LF| - | — = ~ - - | = — | = | 0.003
#KER (mg/L) | 0. 000554 F — = | = | = = N = | = - — | <o0.0005
PCB (mg/L) |tz = & - = 1 =T =T = 4 = 1T = — — | <0.0005
Trouiryy {mg/L) 0.02 BT = = == = = ! = [— - == - == < 0. 002
NZERTES (me/L)| 0002 UFf = | — = = | - =~ | = - - < 0.0002
1,2-Y/muxg (mg/L) | 0.004 LA = = = = = = L= = | = < 0.0004
L1-YrouxzFLy (mg/L)| 0.1 BAF = = - = — = = ; — = — | <o0.002
/x L2-YzoaxFLy me/l)| 0.04 UTF| - - | -1 - - — | <o0.004
L1 1- NP % (mg/L) | 1 BT = = = = = = = = — <0.1
L2-hrYrmoxy {mg/L) | 0,008 LAF || = = ¢ = - = || = L = = | = < 0.0006
M&nn:%lf/ /)| 0 WFE[ — S — = = = 1 = = - < 0.001 |
FrosmoxFLy (mg/L)| 0.01 WF R == _ — =__ = — - — | <o0.001
.3-¥7up7u~ mg/L| 002 BF[ - T = - - | = = | = | = - < 0.0002
FU T A ~ (mg/L)| 0.008 AT = | = —~ = = [ = - — | <o0.0006
=Ty ~ (mg/L)| 0.003 BAF — [ = [ = — = = [ = — - < 0. 0003
FHA RN (mg/L)| 0.02 BT = = = = | = | = == = = < 0.002
~_r¥y  w/)| 001 BT = I = = = = = = - — | <o.001
rLy (mg/L) | 0.01 LT = = = = = = | = — | <o0.001
 EEEERUEMEEER U0 uT| - - - - - = | = 1 = - <01
2 T /L] o8 uF| - = = = | = = 1 = 1 = - ige)
&9? mg/L)| 1 T = [ = | = = = - | <01 | <o.1 - <0.1
La-UAX T (mg/L)| 0.05 ST - | = 1= — - - | = = — <0.005 |
| A A (ms/L) = S = | = — - — | 186 | 185 -
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e —— BREHAA | s e 41 2 | 4 44 45 46
i ST YT R I S s i ! 1
N — | | sern [EEER wug | ame | SEERN semmn
KR A - R05. 08.31 | R05.08.31 | RO5.08.31 | R05.08.31 | RO5.08.31 | RO5.08.31
BoKkmRl 12:00 09:25 | 09:50 | 10:20 10:40 10:55
i | AfrE i) g | ®m & i
- | &5 RE i i) _ i i) iy
RGLE —= i S R . 1 S 1% el
el . / = =6 S =t A =t/ NE i N5t
RiR ©) 3.3 | 3L5 3.8 | 34.0 | 344 34.8
KiR () | 341 | 285 | 283 | 283 29.0 290
58 - TRER | RKER RKEEE ANEEE RKALE RKRKEAHE
"R TS FERE  BHTAR  HBHTAR | BTAKR | FHFAR
B (&) | e I 40. 6 >50.0 | >50.0 36.6
pH 6.5 ~ 8.5 9.0 7.2 7.5 7.6 | 1.5 7.5
BOD (mg/L)| 5 U 580 | 1.4 1.7 1.4 | 1.6 3.4
| COD (Mn) (mg/L) - | 23.0 4.4 3.9 3.5 | 3.6 5.0
SS - (mg/L) [ 50  LAF[ 38 | 18 16 12 |26 13
DO mg/L)| 5 BAE[ 117 | 6.7 7.2 6.8 | 7.8 7.1
Bt  (ing/L) = 1.62 1.54 |  2.14 1.80 | 1.76 2.41
£V (mg/L) : 0.131 0.131 | 0.170 0.139 |  0.141 0.214
AREITA {mg/L) | 0.003 LAF = < 0. 0003 — — = ~
VTV (mg/L) [BiEhAVZ L — <0.10 | — — = =
oy (mg/L)| 0.01 LAF = <0.001 |  — — - -
B P (mg/L)| 0.05 U = <0.005 |  — = | = =
UFR  (mg/L)| 0.01 HUT = 0.002 | = - — —
BAkeR (mg/L) | 0.0005L%TF = < 0.0005 | — — - -
PCB  (mg/L) [RHiEnRVZ & - < 0.0005 = = —= —
DA A (mg/L)| 0.02 LAF — < 0. 002 = = — -
ME LR (mg/L) | 0.002 LAF = < 0.0002 = = - —
L,2-Y/noxiy (mg/L) | 0.004 AT = | < 0.0004 — = - -
LI-YZoaoxFLv (ng/L)| 0.1 F = < 0.002 = = — -
vA-1,2-VZoRTFLy (mg/l)| 0.04 LT[  — < 0.004 = — - -
LL1-hYrmaxs (mg/L)| 1 LT - | <01 = = - -
1,L,2-bYZmuxyy (mg/L) | 0.008 LLF = < 0. 0006 — =~ - -
FYZoozFLy ~ (mg/L)| 0.01 KT — < 0.001 - - - -
FhrZ/sonxFLrr (mg/L)| 0.01 LAF = | <0.001 = = =8 —
1,3-¥Zuusua~y (mg/L) | 0.002 LATF = | <0.0002 = - - -
FII A (mg/L) | 0.006 BATF = | < 0.0006 - - - -
ey (mg/L) | 0.003 LIF = | < 0.0003 = = —
FARCHNT (mg/L)| 0.02 LT — | <0.002 - - | - —
N (mg/L)| 0.01 LATF == | <0.001 — | = | — =
Ly (mg/L)| 0.01 BT — | <0.001 = | = — =t |
PHEEMERRUEMBEER /L[ 10 UT = | 1.1 - | = | = =
TuFE (mg/L)| 0.8 BT = .11 | = = | = —
EH%* mg/L)[ 1 WUTF = <o = | = | <o.1 0.9
| L4-vAxH% (mg/L)| 0.05 LITF = < 0.005 I — -
A A (mg/L) - = — R 18.3 246




